ol = Al o]z}

22| L}o}7}=




MU MMI=ETS | 30,000 &

i< | 4,000, 571 OfAk SHFA HiS B
Qe 500ml 171, FZRZHE 200mI 27, AdZofAlOk= 410ml 174
o=} 115g 171, 2AFEFX| 135 17l AFZFAIZE 500ml 17K

M HA71=8= 40,000 &

1=

5 500ml 171, Af2AIZ 500ml 174, T FAZE 500ml 17H, A4 018 410ml 171,
EH 17H, DI 300g 17, 20 5E 500g 174, RHefAMEES00g 174,
ANZH|RE 280g 174, BHA=2250g 171, 77 ISEHAER! 454g 171, EX|==LH7 |E|2E 40g 171

APZE OHAMEM V335 | 30,000 2
HHZ | 40009, 57H O|AF 8F =A &
7 F=2F2500ml 174, 2==500ml 174 7 |&Ex|85g 371, &7 |E55ml 17}
OrAEM15g 171, Af2HAIZ=500ml 17, RIZFAS 500ml 174

AZE OHMEM V725 | 40,000 &
HHZ | 40009, 57l O|AF SF =4 Hl& 2
7 F=2F2500ml 17, AF2FAIZR500ml 171, A3 7|&EX|85¢ 671, CHAERO0g 17H,
12257200g 171, &7[S110ml 17, Br=500ml 17, =7 FE500ml 174
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=7 NEW S9< | 30,000 &
HIZ | 40002, 57l O|AF St =A HiEL 22

AA7|EX| 90g 67, 1FEEX| 90g 37H

2}0|E AEHCIE xFX| 150g 1274

LG OfSLHE B4 7= | 20,000 &
HIZ | 40009, 571 O|AF SFZ=A b
L GAIEIZAZ 2|l 2LRIZ| AFE 400ml 17}, LGAiEtAZ) 2|0l 2LRIZ| 2IA 200ml 174,

o=L_-0

SEHIC| BITIRIA| 200g 17H, SEHIC] ]t 80g 27H, T2|2 X2 100g 27K

S Nierios

LGMEHHY 7|2 E W= 6= | 30,000 ¢
HiZ | 40002, 571 O|AF & Z=A HilES 2
AR HO|AK 275 200ml 27, LA 2ol 2@HE| 75 200mi7ZH 271,
=CHIC] HIC| A 200g 171, 2EHIC| H|5 80g 371, H|2|2 X[2F 100g 47,
AFRI= 1P 174
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& B&=EN4 59= | 40,000 &

AE X|2|S2FE 455 200mL17E, L7LAE X|2|ZS2Ps ZAC[AL 200mL 171,
AE TIF3SE AR 380mL 174, I|2|7HH[E|A 90g 27|, It [E[B 90 271,
I|9EE HIC|RA| 380mL 174, 2G{HIC| EEFS! H|5= A- '
ME SEEX| AL Z7h 371, B
FHI2 = 2202 120mL 171, A= 2t

174,
|3 220H 2|=|A| MIE} L 17H,
L3 87| 174, XAAZ £ CAP 490mL 174

| GAYEIZ12H 1S HEHE NIE | 40,000 2
HiS | F=
CIEQZE BI9i= DS AT 400mL 17}, Ut ATEEAE X HIC|2IA] 400mL 1]
|/ 180mL 174, HetAmt S2h2x ot amt XEADI HEC|A| 200mL 24 174,

DEIE AFEE180mL 17H, =Y s|22j0H 3 SE X|2F ZE=20IE 100g 371,
E X|2f OLO|AZHUTIE 100g 37, H|2|2 5|22 t0F WAESE KL =l 374

HEZ1A| 1.5kg(302}) | Q&) 50,000 &
HiZ | 3,500




ARI{ A7 22+ | Q) 45,000 =

s | 229 192 22 His)

ARIHAZI m2|0|¥ 5 2F 800g 24, & =2F 1.6kg
2 A BrK| 2[ol 150|4 Zhoff S0 CRA| 00788 22

Aol A7 32 | M) 55 000 2
Hi<S | 22(92 192 Q2 Hi=)

ARIHAZI EZ 0F700g 3%, & £2k 2kg
o i1 BEX| 2[aH 350( SF ofjo{BH =&t

HiZ | 35002, 1071 O| AL S Z=At
=2711004F 2271xHHE =

Oy T3]

M=510| ZME | 30,000
HHZ | 35002 1071 O|AF SF Z=A ¢
HME70/1Z 108, H32Ulet 55

5/10



SME MHME 1S | 27,000
HiS | 35008, 1071 O|&f of A HIS B =

=a=Z4 100%, 0|9 50g 18, CiA|OF50g 18, M=E+10|Z4 38

A= M|E 25 | 38,000 &
HiZ | 35008, 1071 O| A st A HIES 2=

T=AHEX| 500g =21 100% 0129 100g CHA|0F100g HE710(|2 3=

M= M|E 3% | 50,000 ¢

HiZ | 3,500%). 107l O A St FEA HiES B=
2oMX| 350g =EX| 350g =AEZ 50% ZAM<S150g 0|21 50g CIA|OF50g
ME0|H 28, =324 AHHS

Oy MO8 C

Lx| SN = ME | 40,000 2
% | 3,500%. 1071 O| A ot =AHS B =
HX|MIE 900g(AHX| 300g &HX| 300g CHEX| 300g)
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i | 3,500%. 107l O|AF o A HijS £
ZACIA|OF100g 58, 710|Y9 100g 5&.

Xk
—
S | F=(92 182 EEE

SS0A ELhi= 4




o

=

- 6~6.5kg 15FA

Mrjo|=Zz}el55 | (W) 53,000 2
HiS | 22
25=140g 75X 180g OF==180¢g

AO|= | 355*300*40m  &MHK| | S5/0t=EE(0|=2), S (HIEL)
R | &80 K[et-EfHfErA

HiE | 7=

2125 50g 6 s (m i gt 28), 25 50865 8(=),
2/ 50g"6sLHFHLICH

AIO|= | 320*390*40mm  EZ | &EHO|X[H/EHHE A

Slp 2335 | 60,000 o

HiS | R =

100% =4t &E& 550g*3P

ALO|= | 240*245*90mm  RIAEK| | ZAHE 100%

TR | ATHO|K[BH Za AL bt
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15 |
NEA 2H|H BigdxX150g X|XH50g M|2!1150g =XxH50g +=3AM150g & 750¢g
AO|= | 260%23525mm K| | Y(SZ/0|2)

T | &8 0|AH2 | K| eh/EhHHETA

S | 2=

130g x 57 M|E

BHOtL(Q|ZAN51.7%, SHEFE(M|IZAN20.6% &A|415.5%, ZHAHAMEL B|2=A
SHE(X|=z4), 7= E

0{ZIEt MENMIE 25 | 36,000
S | =
500mix27}, 250mix17H
HZ=A{E(EZEMM-TE2| XZH0()70%, CIA|OF S

a214s HEefds FHMEME | 46,000 «
i | 22
21BTHE 30gX247HBE)+ 22| TS 32X167H22)
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T AGA) | - HESRUEZH

L ———

HZEGEA) | - 7188 ol A2 EAH)

3r<= deuldabang@gmail.com
shop.deuldabang.com FOJA| ZIEZAN| 75

0r50]| E= & 20| AVIL? oA LHE 8k ELHEHL.

K3} | 070-4231-9278 (FE2A|ZE LT 10A| ~ LF 7A|)
D 717I2E ID | deuldabang e O|H|€! | deuldabang@gmail.com

HAl= 07|/HZ/QNE/R S 52
K=/ IK|S HiSH|= 5TR0| F7tElL|C
AO|QEH(Ee}0[= 1) KF OfAT = SC
o ZH24
[ 201230 972401-01-030430 (F)SCit ]
2 0fZte 20233 98 22 (F)Lct
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